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QUESTION 1

A BGP session shows the state as active. 

What does the state indicate in this scenario? 

A. A keepalive message has been received. 

B. The BGP session is fully established and routes are being passed. 

C. The TCP connection is successful, and BGP is waiting for the OPEN message from its peer. 

D. The routes are still trying to establish a TCP connection. 

Correct Answer: D 

 

QUESTION 2

Which two statements about the default load-balancing behavior for the Junos OS are correct? (Choose two.) 

A. By default, the Junos OS performs a per-packet load-balancing operation. 

B. By default, the Junos OS installs multiple equal-cost next hops in the forwarding table for a destination prefix. 

C. By default, the Junos OS selects one of the equal-cost next hops for received destination prefixes. 

D. By default, all Packet Forwarding Engine slots are assigned the same hash value on the Junos device. 

Correct Answer: CD 

 

QUESTION 3

You are concerned that someone from outside the company could use an open conference room port to access the
network. 

Which feature should you use to address this concern? 

A. persistent MAC learning 

B. 802.1X 

C. DHCP snooping 

D. MAC limiting 

Correct Answer: B 

 

QUESTION 4
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You have an IBGP neighbor sending you routes. You need to apply a policy so it only evaluates routes being learned
from this specific neighbor. 

In this scenario, which statement is correct about applying the policy? 

A. The policy should be applied as an export policy to the BGP group level. 

B. The policy should be applied as an import policy to the BGP group level. 

C. The policy should be applied as an export policy to the BGP neighbor level. 

D. The policy should be applied as an import policy to the BGP neighbor level. 

Correct Answer: D 

 

QUESTION 5

Which two statements about RSTP are correct? (Choose two.) 

A. RSTP is backward compatible with STP. 

B. RSTP permits multiple root bridges within a Layer 2 domain. 

C. RSTP permits only a single root bridge within a Layer 2 domain. 

D. RSTP is not backward compatible with STP. 

Correct Answer: AC 
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